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Maximum volume = 4.55 x 3.55 x 2.5 = 40.38125 cm"
Minimum volume = 4.45 x 3.45 x 1.5 = 23.02875 cm® M1
Actual volume = 4.5 x 3.5 x 2 = 31.50000 cm’
Absolute error = % €0.38125 - 23.02875: B1
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Percentage error = 4.67625 x100 = 27.54365 %
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9. FExED =GExEB
7.8x=4.1x6.9 M1
7.8x =28.29
X = 3.627
= 253.4224 cm
BC?=CDxCF
y? =11.2x22.627 B1
= 253.4224
y =4/253.4224 =15.92cm
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10. | x* +y? =6x-10y-18
x? —6x+y?+10y =-18
X*—6X+9+y>+10y+25=-18+9+25 M1
€«-32+€¢+52=16
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a=3b =\_5and r =\/E =4 M1 Factorization
-.c€,-5 andr = 4units
B1 Candr
03
11a) | p+xt and pxt?
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192x , 48x° 32x°  12x*
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lx =0.04
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=64 -

x=0.2

~.1.96°=64-38.4€.2 +9.6€0.2°-1.280.2>+0.096 Q.2 "
= 64 —7.68 +0.384 — 0.01024 + 0.0001536

= 56.6939 ~ 56.694 €d.p _

M1

Al

M1

Al

04

14.

Men hours days

12 5

_ 5x8x3
12 x5
=2 days

M1

Al
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6<2x+1
2Xx>5

5
X2—
2
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5x—-29 <-4
5x <25
X<5
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16.

men:%x45=35

) B1
women = §>< 45 =10
lettheadditionalnumberof womenbe x M1
35 5
10+x 4
50 +5x =140
5x =90 Al
X =18 women
03
17. Taxable income ksh 50400 p.m
inkz p.a= 50400 x12 = k730240
Taxable income (k 7) Amountinslab (k7)) Tax in ksh
1- 1980 1980 10
1980 x 100 20 = 3960
1981- 3960 1980 15
1980 x — x 20 = 5940
3961- 5940 1980 100
25
1980 x — x 20 = 9900
5941- 7920 1980 100
1980 x E x 20 =13860
7921 - 8650 730 100
730 x % x 20 = 6570
Over 860 21590 50
Total 21590 x — x 20 = 215900
100
=256130
Gross tax p.ais ksh 256130
Gross tax p.m is 256130 =21344.20
Relief is ksh 520
Net tax = ksh 2134420 - 520
= ksh. 20824.20
b
) 20824 .20 100
50400
=41.3179%
18.a) | Graph
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